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Problem

If isochronous owner is disconnected from net by accident,
no node can release the resources that the owner
reserved before.

There are not any nodes which should investigate
if owner exists in net or not under the current draft.

owner listener talker

resource
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Requirements

1.  net should detect the accident that owner disappeared,

2.  and release resources instead of owner.

We have two requirements of the problem;
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Definition of observer ( 1 / 2 )

We define the node which should observe 
isochronous owner as ’observer.’
Observer should investigate whether isochronous owner exists in net.

observer

owner listener talker

observe

resource
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Definition of observer ( 2 / 2 )

If observer knows that owner disappeared,
it might have to release the resources which the owner reserved
for isochronous transaction before instead of the owner.

observer

owner listener talker

resource

release
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Investigation method ( 1 / 2 )

1. When observer gets RESET_NOTIFICATION,
it should check if the reset occurred at owner’s local bus.
2. If it occurred, the observer should wait for notification
from the owner.
3. Then, If the observer can get notification from the owner,
the observer knows that the owner has still stayed in the net.
4. If not, the observer knows that the owner has already disappeared
since the reset occurred.

owner

2. observer

1. RESET_NOTIFICATION

BUS RESET !

Yes, it exists.

3. No, it went out.

notification

notification
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Investigation method ( 2 / 2 )

The owner whose local bus had bus reset should send notification
to observer.

notification

owner

 observer
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Registers ( 1 / 3 )

Observer should have this field.
It should specify state of owner, as encoded by the 
table below.

We define two register fields for isochronous owner
observation.

The observer which knows that owner’s local bus had 
bus reset should update owner_status field with zero.
The owner whose local bus had bus reset should update
owner_status field with one so that observer can know its existence.

1. owner_status field

owner_status

0

1

owner’s existence

unconfirmed

existence
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Registers ( 2 / 3 )

Observer should have this field.
This field should specify owner’s bus_ID.
owner_bus_ID field enables observer to distinguish
RESET_NOTIFICATION.

if ( RESET_NOTIFICATION.bus_ID == owner_bus_ID ) {

   /*  Bus reset occurred at owner’s local bus.                    */
   /*  Thus, owner should wait for notification from owner. */

} else {

   /* Observer ignores the RESET_NOTIFICATION. */

}

2. owner_bus_ID field



Sony corporation

Registers ( 3 / 3 )

To enable observer to investigate as many owners as possible,
observer should have some pairs of owner_status and owner_bus_ID
fields in array of registers, such as STREAM_CONTROL registers.

notification

owner

 observer

owner_status[ 0 ] = 0,
owner_status[ 1 ] = 1,

another owner

The bus had a reset.

owner_status[ 0 ] = 1

owner_bus_ID[0] = 3
owner_bus_ID[1] = 100

 ( bus_ID = 3 )

 ( bus_ID = 100 )
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Observation data flow ( 1 / 2 )

owner observer

owner_status = 0,
if owner_bus_ID equals
RESET_NOTIFICATION.bus_ID
( unconfirmed )

owner_status = 1
( existence )

If owner still exists after a bus reset,
the owner should update the owner_status filed with
the value of one in order to let observer know its existence.

write request ( owner_status = 1 )

RESET_NOTIFICATION 
from owner’s local bus

owner_status = 1
( existence )

tim
e
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Observation data flow ( 2 / 2 )

owner observer

owner_status = 0,
if owner_bus_ID equals
RESET_NOTIFICATION.bus_ID
( unconfirmed )

Observer misses notification from owner,
then observer knows that owner is disconnected from net. 

RESET_NOTIFICATION 
from owner’s local bus

owner_status = 1
( existence )

tim
e Time is up !

Observer might need
to release resources.

Owner disappears.
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Observer candidates

We have two candidates for observer:

1. Bridge portal

2. Bridge manager

owner listener talker

Bridge manager or bridge portal ?

BM
1

2
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Observer initialization

Before resource reservation,
isochronous owner should set observer node,
in case owner disappears while resource reservation.

Owner should update both owner_status and 
owner_bus_ID fields, then reserve resources for transaction.

owner

I choose you as 
my observer.

Then reserve resources.
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Conclusion

1. Observer investigates if owner exists in net
2. Even if owner is disconnected from net by accident,
owner can know the accident
3. Thus observer or another can start to release resources

To be considered

1. Whether observer should release resources ?
2. Which candidate, bridge manager or portal, should
become observer ?


